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GENERAL ENGINEERING SCIENCE |
‘Attempt ALL questions

Marks for each question are shown in brackets
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For the shape shown in i

(a) the length of the Side
a) t 2NG

(b) the total area of both shap€
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10. A stationary packing case with a mass
causes acceleration in a horizontal |
angle of 10° below the horizontal, f 1

Determine the acceleratio

11. A worm/wheel gear with an o
and carries an effort | ulley
120 teeth and a loa di

12

wrench to ach

Determine the
200 GPa. %
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a) 3 sides same length, 3 angles same size

b) all sides differenet length, all angles diff values

¢) 2 sides same length, 2 angles same value

d) a line that touches the outside of a circle (the circumference) it
makes a 90° angle with the radius

Solutions to come later!
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These | will do ASAP



